Worksheet 1: Source Work
Study the table below then answer the questions which follow.
Comparing levels of Development in Africa
	
	Development Index Rank *
	Income per person per year $
	Life expectancy (years)
	Average years of schooling

	Norway
	1
	48,688
	81.3
	12.6

	USA
	3
	43,408
	78.7
	13.3.

	UK
	26
	32,538
	80.3
	9.0

	Brazil
	85
	10,152
	73.8
	7.2

	China
	101
	7,945
	73.7
	7.5

	South Africa
	121
	9,594
	53.4
	8.5

	Nigeria
	153
	2,101
	52.3
	5.2

	Ethiopia
	173
	1,017
	51.4
	2.2



Danielle Coull has made the following statements about Africa. Using the information from the table, show if each of Danielle’s statement are CORRECT or INCORRECT.
a) Norway has the highest UN Development Index ranking. 
b) The USA and the UK are very similar in terms of income per year and life expectancy. 
c) South Africa is poorer than China in terms of life expectancy and years of schooling. 
d) Ethiopia is the poorest country in the table in all indicators.		

For each statement made by Danielle use the following answer template to help you:
[bookmark: _GoBack]Danielle is correct/incorrect when she says (write in statement) because the source shows that _____________________________________.
